Old Reconstruction (based on old simulation)

DBCALHit

« E (attenuated,
in GeV)

e t (timewalk
corrections not
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DBCALCluster
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hits
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* Non-linear energy
correction: E(E,z)




New Reconstruction (based on new simulation)

DBCALHit

« E (attenuated,
ADC units)

e t (timewalk
corrections
necessary)

DBCALShower::KLOE

DBCALPoint ———» DBCALCIluster

DBCALShower

DBCALTDCHit

e t (timewalk
corrections
necessary)

« Match upstream and < Cluster hits
downstream hits together

e Match ADC and TDC

hits

Convert ADC to GeV

Timewalk corrections

z ~ At

E adjusted for

attenuation

* Non-linear energy
correction: E(E,z)




meesmear

1.0utput from hdgeant: energy-weighted time
spectra (before electronics)

2.Apply electronic pulse shape, smearing, sum
SIPM's

3.Find threshold crossing time with timing
resolution appropriate to ADC/TDC

Compare times 1 and 3 to get At timewalk



TDC layer1
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TDC layer3
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A t(ns)

Fit to f(E) = Cpy
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ADC layer3

32 g adc_histo_layer 3
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Energy Spectrum??

E

Entries 1192029
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4500

4000

3500

3000

2500

2000

1500

1000

500

II_LJ_J__!Ll}IllllllllII|IIII|IIII|IIII|IIII|III|I

50 100 150 200 250 300 350 400 450 500
E (ADC)

IDD




Plans

* Add preliminary timewalk correction constants
to CCDB

 Add timewalk correction to reconstruction
e See what needs to be fixed



« ADC maximum?
 ADC timing?
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